Directions (1-5): =1 &d SeThRT &1 €T deh TG+ HIfoiw
3R ARy few 31T weaAt & 3R EifSv|

3sfaeanedt 31U M, N, O, P, Q, R, S 31X T g &I 31 3T gl
Ueh JTeh Aol o URT 3T 8 § olfeheT 3TaRTeh w181 fob HATT shed A
gl T Tacaredf 3ma 3reTer-3rereT SHatr3it 84, 3 df, 5di, 7 df, 9 df,
4 df, 10 & 31X 12 df # 9ad g olfchel 3TaTS Aal o THT el H
gl

R,T & &IV ¥ g8 T TR daT & 3R J &l 10 o F&Tl & =16l God
g1 S, Y 3R =ty Fem &7 8T gaar & Afha 10 &Y e & gea
drel facaTdl & ST @ AN T G 66T g1 O, Jdrad el H ggad
aTel SAfard o b 91T §&T § 3R Toh Sh gIv §8S =afad o faadid
dor g1 M, P & ST & X TU WX 3R 10 o 8T &7 geat drel
IfFd o AU Sor g1 9 df & H Ugal arelm faeamdt ey sat
3R 10 df e 7 dgat arer At & fAde 76r doar 81 R,.Q &
e ST §19 dF el 7 Jgat arerm facard, 7 df Fam # dgot arel
facaref & a0 @ Y T 9T ST §1M 3R T,12 dF 3R 4 dF e
# 8 ggd &1 N, 5 df ell 7 Ugat arer el & A A& Sor &1
P, 9 df &I # Igat aTel facarell & TAadia Sar g

Q1. fF=T facaTdT # & hieT 8 df HaT H UgdT 87
(@R
(b) S
©T
(d) O



() 3TH | g LT
L1Difficulty 3

QTags Circular seating arrangement
QCreatorNisha Negi

Q2. 38 Tacarl o1 TUTT AT §, St 7 df haTl H 9get arel faeardt &
HocT A, 12 AT HeTT H Uedr g7

(a) STT § &

(b) STk &TT

(c) &TT | &

(d) aTT & dr T

(e) 81 gIT

L1Difficulty 3

QTags Circular seating arrangement
QCreatorNisha Negi

Q3. Tacrdf, St 107 e H Uedr &, fhe HaT  ugs! arel fagaraf
& faodra der 87

(a) 127

(b) 5

(c) 47

(d) 9

(e) 7

L1Difficulty 3

QTags Circular seating arrangement
QCreatorNisha Negi



Q4. 5T FYAT H § Fied AT T g2

(a) Q,0 T faudia daT & 31 97 a1 H gaar g |

(b) R,P & fawId sa1 § 31X 47 &hetr 7 gadar g

(c) M,Q & faudia dar1 & 31K 57areTT & e & |

(d) P, ArE helT & Ugdr g 3 9 df Fell H Uga arel cIfebd &
faadia SoT &1

(€) I & q FIS TG A& &
L1Difficulty 3

QTags Circular seating arrangement
QCreatorNisha Negi

Q5. &1 R FATTHRT & TR I 'T' 57 yhR ‘57 § gafaa g 34
YR 'O, '8 @ HfA §| 38 9T & 3[R, AeT A A RIT R A
gafaa g?

(@77

(b) 127

(c) 47

(d) 107

(e) 97
L1Difficulty 3

QTags Circular seating arrangement
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Directions (6 -7): fiFITelT & STeTeh T &l EATTYdh HEATH HIToTT
3R = few a1T geat & 3R S



3eediFd AT A, B, C, D, E, F, G3IRHs@ YR @ g f&F C, B A
qd &l A 18 A gT &1 B, A& Headl H 27#H ST A 1 A, E & HoadT
H 36HT IT¥TH $T 3T &1 D, E & Hogdl H 3T I 457 W E I F,
ST A AR G A 15 A I &1 H, G & Fegdt # aied ol 3R 187
&1 F, D& HogeT H qd I 36 A T &

Q6. C & e # H g feem H werg?
(a)3<X 9ieaH

(b) 7@

(C)W-Qﬁ

(d) af&ror- qa

OESLEEIEGH]

L1Difficulty 3
QTags DIRECTION & DISTANCE
QCreatorNisha Negi

Q7. E 3R H & &I &l #geTdd gl fohcteit &2
(a) 35HT

(b) 31T

(c) 634

(d) V1225%r

(e) fre TR A8t fehar ST GeheT
L1Difficulty 3

QTags DIRECTION & DISTANCE
QCreatorNisha Negi



Directions (8-12): AT ST 91T Uk ¥ H Ueh U2 3R &l Y |
3R 11 U 91T &1 3Rl Ig T YT T o hyel H U 91T 3er
YRaT ST 37X Gol o Tl GATCT g AT oTgT | Gladl hefell ol Te |

3 AT

(a) IfE U | F fET 31T 3T YT FT 3R & & foIv gATeg g, Siafh
FT || F f&T 37T 3T 92T &7 3R & & forw gateq =781 &

(b) TS FHUT 11 T 32T 313l YT HT 30X &oF & fow gITeg §, Siafh
T | ST 3T J&T &1 3T &t & Tolw Tie w18l §

(c) T U | AT HUT || H AT T ST YA FT 30X &t & forw gATe
J

(d) I YT | 3IR 11 SIAT o ST Teh TTY g al U2 T 3R ¢of o TolT
qATCd AgT &

() TTE U | 3T 11 S1AT F ST Y2 &7 30 ol & [T TITS ¢

Q8. SAUTeT AeT, ITELTAATS SToN, FTaTehiar Sie N THIMYT STel A,
HRAT T & TeeT # e FaT 7 7o Tad FH 2

|. U TYAT 2.56 SO A, 0.338 eSS sfelR 3 0.465
gTITehTaT STo & SIS g

1. HELTErATS STeR ol Hed AT STe & sIe’ ¢
L1Difficulty 2

QTags DATA sufficiency Reasoning
QCreatorNisha Negi




Q9. 3ifAd, FfAd, I-id AR 34T IR g &1 I T I o # T
PR AT & °RT 3R 9 § 3N g AT IR 307G &1 AT Tohe
ferem &1 3N 37 572
. A, o & faudid dor 8, S 38 & &k a7 3R dar B, S
qfREH &I 3 37T &
II. giAd, 3fea & faudia a1 8, S Ioitdd & & &0 3R 8, S 3

$T IR 3-AG B

L1Difficulty 2
QTags DATA sufficiency Reasoning
QCreatorNisha Negi

Q10. A, B, C, D, E 3 F g &7 3R 3=HT gl Teh g H 95 &1 A
% &I dTT 37X PioT ST &7

. A, DI 3R 3-AT §| hael C, AR BH I &1 F, E IR A& i
AL

Il. F, E & & STU3NR &1 Shael D, B 3R EF T &1 C, F & 3o
el ol

QL1. PAFATATET A & et AT HYUF TATAT § - 'FS A5 fagedi g2
|. $& faegrdt et &, Tafr et ek &

II. Fo et faeardt ¢; Tel oz fRets ¢

L1Difficulty 2

QTags DATA sufficiency Reasoning
QCreatorNisha Negi

Q12.M, N, O, P 3iIR R # &, P foha=t cafFaat & oaT 87



.O, M8 T g olfched R § BleT g, il P § ol Tl g |

II.N HEH oIelT o781 oT6l § ofiched O G olaT &
L1Difficulty 2

QTags DATA sufficiency Reasoning
QCreatorNisha Negi

Directions (13-14): f&T 37T 9251 &7 3R ¢t o ToIT =T STt &1
eI IS

g AT, P, Q, R, S 3R T H I, Ucdeh o Teh 379 33T hIHAT T
ASTSeT BleT TRACT| P &1 R 3R T it & 31Tk $1a7creT fSham| shaer
QF S q 3T I FFATI T ¥ T T TR T 37T 6T
fohaT| T & st & felT 9000 T9 T $79TcTeT fohaT|

Q13. & IR SRR & ITHR e H & T FT T 87

(a) hael T STTFAAT o1 Q SIRT ST T IS HIHT A HH HIHT I
3ITATT fohaT

(b) T a1 R 3R Q | 317ereh TR T 33T Toham

(c) Tt =¥ #fY R @RT $7aTcTTeT T Iy TR & 31Teeh $ITcATeT 8T o

(d) T AT A &, R HAITS BT & fIT 20,000 T9 T 33T
et T HHTGAT &

(e) FS s AT ET &

L1Difficulty 2

QTags ORDER & RANKING
QCreatorNisha Negi



Q14. IfE S A T E@RT ITcATeT Y 315 AT & 17000 31f&reh ahr
TS T &, o HIHAT: P SaRT I T 15 M fole=T H F et

T g gehdll 87

(a) Rs. 36000

(b) Rs. 17000

(c) Rs. 7600

(d) Rs. 27000

(e) Rs. 6600

L1Difficulty 2

QTags ORDER & RANKING
QCreatorNisha Negi

Q15. 2reg CRITIQUE & gult & U8 fohcdsl 7\ 8 ISt & 9q% &
HET 31 &1 90T 37Td &, ToTdet 31JSir uTATeT H 3odeh 7T 37T 82
(a) T

(b) IR

(c)ar

(d) et

(e) IR | HTh

L1Difficulty 1
QTags Alphabet Series-Reasoning
QCreatorNisha Negi

Solutions (1-5):



Sol 8th

S1. Ans.(c)
S2. Ans.(e)
S3. Ans.(b)
S4. Ans.(d)
S5. Ans.(a)

Solutions (6 -7):

D 36m F
15m
18m H 18m G
B 18m T /
C s
30m 45m f.
27m 7 6V34m
&
36m J {

Sol.

S6. Ans(c)
S7. Ans(c)

Solutions (8-12):
S8. Ans.(e)



Sol. From I- Australian dollar > Hong kong dollar > Rupees >
Japanese Yen
From Il- value of Australian dollar = value of Singapore

dollar
From | and Il — Japanese currency has the lowest
value.
S9. Ans.(c)
Sol. From I - Amit is facing south.
Amit
Sumit udit

Punit

From II- Amit is also facing south.

Amit

Sumit udit

Punit

S10. Ans. (b)
Sol. From 2" statement we can see that C is on the immediate
left of A.

S11. Ans. (@)
Sol. From |



From Il

Teacher .m

So, only From | we can conclude that some boys are
student.

S12. Ans.(e)

Sol. Clearly both statements | and Il together are needed to
answer the question and it is concludethat P is taller than four
persons.

P>R/N>N/R>0>M

S13. Ans.(e)
Q>S>P>T(9000)> R
Sol.

S14. Ans.(b)
Q> S >P>T(9000)> R
Sol.

S15. Ans(a)
CRITIQUE
Sol. L



